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Section B (40 marks) Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(3). | The total number of visitors to the jewelry show in the first

day was (w+201) . 2

KR % - X F A i (w+201) A o

310). w—+201 = (128+154)x2 )
w =363

The number of visitors on the first day morning was 363.

w+201 = (128 +154)x2

w =363
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32(a). The difference is

A 550 5o 2

32(b).
Because The sales of fans in April is 250, the sales of fans | ,

¥ A in May is 500, the difference was :
500 —250 = 250 (Accept any other reasonable explanation)
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33(a).

33(b).
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The area of the trapezium is
(20—8+20)x20+2 2
=320(cm?) 2
1) e ff AL
(20— 8420)x20+2 ’
2
=320(cm?)
Because The shaded parts are triangles with base of 20cm
¥] % and height of 20cm. The areas both are: 20x20+2
= 200(cm2) (Accept any other reasonable explanation) 3
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The fraction is ;
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She paid:
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34(c).

35(a).
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They paid $ in total.
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He could rent a booth for days at most.
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He should go in the direction southeast
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] (Acceptany other correct answer)

T N U S S T (e rfmy iy viEX) 2
The volume of each portion of red bean cake was:

10x8x3+8 2
=30 (cm?®) 2
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10x8x3+8 )
=30 (cm?®) 4

The fraction was
2
LBl R B FR BTG S ° 2
END
=3
U
% () 5)



